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Part-A /0T - &
MENTAL ABILITY / WHRw& Qvgar

1. Find the missing set of letters in 1.
YWZX : USVT :: MKNL: ?

(A) IGHA (B) IGJH
(C) 1GH (D) IGHH
2. Ramis 5 times as old as Shyam._ If their 2.
difference of age is 8 years, thenhow old ,’ |
is Ram?

«(A) 8 years .,...,-..av 10 years
(C) 12years "/. (D) 5years
3. From the sct of numbers given in four 3.

alternatives, ﬂ_.:nr is most similar to the
set (1,8727)? 1,
(A) (64,125,216) (B), (5.12.32)
(C) (60.79.86) (D) (33,67.73)
4. Which diagram correctly illustrates the a.
relationship among: Carrot, Food,

Vegetables? A
“® e
® 0o

°O

5. ‘Cyclone’ is related to ‘Anticyclone’, in 5.
the same way as ‘Flood” is related to
Choos¢ the best option -
(A) Decvastation (B) Havoc
(C) River (D) Drought
6. Which diagram best illustrates the 6.
relationship among: Pigeons, Birds, Dogs?

(A) @ (B) OOO
© @ (D) @ I

o1 arufters seRl @ W B AW
TRy —
YWZX : USVT :: MKNL: ?
(A) 1IGHA.. <. | “(B) IGIH
(C) 1GN () IGHH

.ﬁﬂﬁ%ﬁmﬁﬂﬂ_fgﬂﬂ .
I S A el o AR &, AR

1 99 ?? .
(A)_ 8 7| B) 10
© 12 98 ®) saf

faw v OR e § J $19 w Ry 7Y
= (1, 8, 27) @ vaife e 87

(A) (64,125,216) (B) (5.12,32)
(C) (60, 79, 86) (D) (33,67,73)

TR, T ggref, afemt o e - w
A W Frofa @ @ 27

(A) @ B 6
©) @ (D) H %

T W ? wfoamae 9, 9@ TR

qeT [T & e R
wa SugE fawes g -
(A) @@ (B) -
© & @) @

o], ofendl, Tl @ ey @ ¥ — 1
o w8 A Frofia = e 87

(A) @ " (B) OOO
(© @ (D) @ -

——

1

|
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10. Choose the pair in which the words are 10.

If = means X, X means - , + means X and 7.
—means +, then2+8x%x16-4+2="7
A 4 (B) 8
(C) 10 D) 12
Find the missing number in the given 8.
series:
4,7,11,18,29,47, ..ccocurnrenen 23, 199., |
(A) 76 @) 70
(©) 95 D) 105
Poles : Magnet : : ? : Battery \ 7N 9.
Correct analogy for the above is -
(A) Energy (B) Power
(C) Temminals (D) Cells

differently related from the following -
(A) Broad:Wide (B) Light:Heavy

(C) Tiny:Small (D) Big:Large
11, Value of 0.003 % 0.02 is - 11.
C (A) 0.6 (B) 0.006
.A (C) 0.0006 (D) 0.000060

\
12, Find the missing number in the matrix?
i 72 |24 |6
f 9% |16 |12
108 |2 18
(A) 12 ®) 16
(C) 18 D) 20

Directions:(Q.13-14) Study the following
number line and answer the questions that

follow-
qmcuNumc&mmom&meuumwuwu

9452535659

13. How many times do the two consecutive 13.

numbers have a difference of 2?

IR + BT qaTd x, X T Faad —, + T
HAAT x AR — & HAAd + ¥, A
2+8%x16-4+2=7

(A) 4 (B) 8

(C) 10 D) 12
= Ao g wE s @A —
4,7.11,18,29,47, cecerrveennens 123, 199.
(A) ' 76 e (B) 70

(C) 95 AE 105

g YTF : o
ﬂﬂﬂ%?aﬁ%ﬁuﬂﬂw-

(A) St ® Tm%

(C) ‘<= O F
ﬂﬂmﬂga%%@%ﬁm
HoR —

(A) ReE:der  B) F@H AN
(©) «g: 9o ) 31 R
0.003 x 0.02 T 4 & —

(A) 0.06 B) 0.006

(C) 0.0006 (D) 0.000060

12 PiAguEsmam g ?

72 24 6
96 16 12

108 |? 18
&
A 12 (B) 16
© 18 D) 20

Adrri-14) B= Ry @ F ©W W
T B SWS —
759523594859545935595
359452535659

fraS IR 2 TR Ry g IO & wd §
2 S I 8?

7
W s ® 7 i w Mw, .
© 9 ® 8 © )
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14,

Maw many times is *S* followed by 97 14, Rard) e s b ure ‘0" 37 WY
Bt \n z“.n._ pain, 3 should not come . mftu-
[ RTCRIN Y A s R ugd) 3 A T R
:,.. 3 m 4 W 3 wm
wy s m 6 © 5 m 6 '
15 The neatterm in the serics is- 18. M) T anTar Qﬂ -
B 22 B, 28,8, .o, B 8, 22,8.28, 8
,m, c, m 29 ..3. 9 ®» 29
© » M M © 3 m M

16. Find the odd one out - 16. aRtm W arr R -~

1 2 3 4
O[PS T e 'l

Ay 1 ®m 2 (A) 1 ® 2

© 3 D) 4 (c) 3 m 4,

17. 10 378 cuins consist of | rupee, SO paise 17, 7k 370 Rt A 7w T, 50 & WA 25
u_sa lm Misc coins, whose values are in R B Aed O RFE e w g
the ratio 13:11:7, then number of 50 paise 13117 B, @ 50 R T REwl N wiEw
coins will be - ) -

(A) 136 @) 133 (A) 136 m 133
© 132 ™) 128 © 132 M) 128

18. In a cerain code, STYLE is written as 18, =M 3 %, STYLE ® uvzc foran oman & |
Nw.ﬂw ma“z .uﬂh%_.h_._b: written  as T34 BLUNT T DNVLR foran wmm 21 99
i ow is written in that e % MOULD #RY foran wmem?

(A) OQVIB (B) KMVNT (A) OQVIB (B) KMVNT
(C) OQSNF (D) KMTNF (C) OQSNF (D) KMTNF 3
19. __(N.:.“:Muﬁsuﬁasaw _%_an .Ea ﬁ__aﬁw 19. WEE o W A e AR 10 A R |
1 s wWes cn tums (o his ﬂ.&Wﬂ\: )
nght and dnives 10 miles and then tums to M%ﬁaﬁ ﬂmuﬁa % Ll gl
his left and drives 5 miles again tuming to - s T 5 0 i
his left, he drives for 10 miles. Finally, he T AR A ad g3 W 10 WG ww) 7 A
turns left and drives 15 miles. What is the T T IR g & R 15 AR TEar 21
shortest distance of his present location TS AHINE W A IA W e @ |
from his home? @R 2?
(A) 0 miles (B) 50 miles (A) oWd (@) so0 W
(C) 30 miles (D) 15 miles (C) 30 A D) 1599

20. The average age of Divyaand Dakshis 22 20, f¥@m aur e 3 afvmr g 22 ad : | afy
years. If Surbhi’s age is added to it. then WY A W N A R e o
the average of their ages beccomes 28 ol A 3lkma 1Y 28 af B wrl &) di#
years. What is Surbhi’s age? @ w a1 Bi? ) !

Ay 37 years (B) 38 years (A) 3rad (B) 38w
(€) 39 years (D) 40 years (C) 3swd (D) 407
[EETYTEC-20][Series-B] Page 4 of 32 ]

20, In an examination, Raj got more marks

thun: Mukesh, but not us many as P'riya.
Priya got wore murks than Gauray and
Kuvitn. Gaurav  got less  marks  than
Mukesh, but his marks are not the lowest
in the group of five. Who is the second in
the descending order of marks?

(A)  Priya

(B) Kavita

(©) Rayj . i
(D) Cannal be determined /

22. Introducing o boy, a girl said, ‘He is the
son of the daughter of the father of my
maternal uncle’. What is the relation
between the gitl and the boy?

(A) Niece - Uncle

() Sister - Brother

(C) Aunt - Nephew

(D) Sistcr-in-law and Brother-in- law
23. Which of the following is not related to

the others?
(A) Hamp (1) . Guitar
(C) Flute ’ (D) Violin

24. Among five friends, A is heavier than B&
D. C is lighter than D. B is lighter than D
but heavier than E. Who among them is
the heavies1? !

(A) B ®) C
(c) D D) A

25. A'is sister of B. F is daughter of G. Cis
mother of B. D is father of C. E is the
mother of D. A is relatedto D as =

ot uden N, wat u) g D varar o M,
Ay B Rrd ad R wy st it
Fhm A s ot MA | Mg W gEn D
am olas ray gy, geeg Wt g e 3
T W Tl A i W aErd@ araen A
TIN L O3 e 87

(A) fomr

)

(C) =

) we T

aﬂmauf.ﬁamﬁﬁamn&ﬁ“m«us

A we A wen @ Rach .mﬁs.ﬁ
m«ﬁm_.mﬂgﬁm«%ng.ﬁﬁz

@A) lh - wm

By e — wrd

(C) urdl — ydian

(D) A - e

A= 3 T TR A i T 82

(A) @on @ firer

(C) &= (D) h

gt =l § A B3R D W g A WA Y
C.D ® Ta # &5 &1 B,D A TN A
F=F1 & AP E A W@ ) T /I W
A R

(A) B @ C

(© D D) A

ABRA MRAZEGA TN 2ICBI
sre &1 D.C R 21 D W &1 A
FDATHE -

(A) Grand daughter (A) 9@
(B) Daughter ®) @&
(C) -Daughter-in-law © T-
(D) Sister D) A
26. Find the odd onc out from the following — e} JETd S S afa —
(A) Island (B) Coast (A) & (B) T
(C) Peninsula (D) Oasis (C) WA (D) TTafTwMA
Page 5 of 32
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27. Find the odd one out - 27. fye & A arETa @ A B~
(A) Clove (B) Cinnamon (A) < (B) el
(C) Pepper (D) Apricot (©) wrh frd () gar
28. In a certain code language, BAT is coded 28. f¥= e w1 # BAT 7t 23 foran o &,
as 23, then how will CAT be written in the & S @ T A CAT a T @
same code language? s
(A) 22 (B) 23 A) 22 ®) 23
£ = m) 25 © 24 ® 25
29. There are deer and peacocks in a zoo. By 29. nﬁ?@ﬂﬂu@ﬂ%%w.ﬂﬂ«?
counting heads, they are 80. The number 2 P g0 &) @ R A T 200 2l
of their legs is 200. How many peacocks fray A &
are there?
(A) 20 B) 30 (A) 20 (®) 30
(C) 50 (D) 60 (C) 50 (D) 60
30. Gunjan spends 75% of his salary and 30. ToF 33 ¥aa &1 75 wfewa @d w0 2
saves 21500/~ per month. His monthly T 1500 ¥ WRAHE TR &) SWH HAD
salary is - A& -
(A) 5,000 (B) ¥5.500 (A) 5,000% (B) 5.500%
(C) ¥5.900 (D) 6,000 (C) 59002 (D) 60002
31. The next digit in the series is — 31 T A@an ¥ aTen ¥F @ -
2,5,9,19,37,? 2,5.9,19,37,?
(A) 75 (B) 78 (A) 75 (B) 78
(C) 80 D) 73 (C) 80 (D) 73
32. Fill in the blank - 32. Raa wmH M -~
SCD. TEF, UGH, ........WKL SCD, TEF, UGH, ........WKL
(A) CMN (B) Ul (A) CMN (B) UII
(C) VU (D) UT (C) VI (D) UT
33. If Monday falls on the 1* of October, 33. ofy e dragay F WEAR gedr B, o 99
which day will fall three days after the 73 A & ada @ N R ag W
20 in that month? IR TT? .
(A) Monday (B) Tuesday (A) WrER (B) WTER
(C) Wednesday (D) Sunday (C) TuaR (D) @R
Page 6 of 32

—mgmn.mo_ﬁmmnnm.s

Directions (Q.34-36): Read the following
passage and answer the questions that
follow -

In a survey regarding a proposed measure
to be introduced, 2878 persons took part
of which 1652 were males, 1226 persons
voted against the proposal of which 796
were males. 1425 persons voted for the
proposal. 196 females were undecided.

AT (2 34-38) : Prefafem wata B
weaY A Ry My wef F e ¥ —

T wERa fRugE @ HW adEvr § 2878
At A s foar R 1es2 ared o 1226
it A s & faes wa sen e A
796 FTEAT V| 1425 A F AT 7 TS
% fea & Ram) 196 3G gl 7 20|

Scanned with CamScanner
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34. How many females were not in favour of 34. el 3w wwma & fea ¥ w1 oA
the proposal?
(A) 430 (B) 496 (A) 430 (B) 49
(C) 586 (D) 1226 (C) 586 (D) 1226
35. How many males were undecided? 35. e e gfEen & o7
(A) 31 (B) 227 (A) 31 (B) 227
(C) 426 (D) 581 (C) a26 (D) s81
36, How many females voted for the 36. fda afdl < fRias & fea 3 =@ &
proposal?
(A) 430 (B) 600 (A) 430 (B) 600
(C) 624 (D) 640 (C) 624 (D) 640
37. Observe the given pattem and find the 37. Ry MY wfawm & e = sk fgw
missing number - F® Tad —
8 10 [12 8 [10 |12
3 ? 5 3 7 5
48 80 120 48 4 80 120
(A) 2 '(B) 3 (A) 2 (B) 3
(C) 4 D) 5 (C) 4 D 5
38, What will be the probability of getting an 38, T& T 3 IoTEN W §H GE& B I D
even number in tossing a dice? wifirsar aar B?
(A) 1/4 ®) 16 (A) 14 ®) 116
() 113 ) 12 ©) 113 D 1”2
39. If four dozen of oranges cost T 160, then  39. af} 4 =9 wad @ arTa 160 T EL @ 3
what is the cost of three oranges? Had D arma e e
(A) T8 (A) 82
®) 9 (B) 9%
© N € 1zt
(D) None of these D) T Y PE AE
[EETYTEC-20] [Series-B] Page 7 of 32




40. The calendar for 1990 is the same as for- 40,
(A) 1997 (B) 2001
(C) 2000 (D) 1996

41. ‘Dog’ is related to ‘Kennel’

way as ‘Bird isrelatedto ........ ...
Choose the best option -
(A) Pen (B) Chirp
(C) Tree (D) Cage

42. In the given diagram below, circle 42,

represents strong men, square represents
tall men. triangle represents army officers.

Which region represents army officers
who are tall but not strong?

).y/
B
(A) 1 (B) 3
C) 4 D 2

43. Which of the following is different from 43.

the other figures?
(A) @ (B) W
]

(C) D (D)

44. Deepak is the brother of Ravi. Rekha is 44,

, in the same 41.

3 «_J,gﬁaﬂ:@ﬂﬁ%ﬂn]%

(A) 1997 (B) 2001

(C) 2000 (D) 1996

Fer wiRw ¢ gm-w ¥ T AR
fafear waRa & o W

T Iygwa Res g7 -

(A) T (B) FRA

(C) u3 (D) fiow

A2 & wé arpfy ¥, g7 @ &l
g, @l qarm & 9 gou, A e @
I IfFER | Fh-w o3 AT JfRER
Taren &, S I & W wfkch @ 8

?/

/1]

g

A) 1 B) 3
(C) 4 (D) 2
Prenfra srgpforl & A o 9w & frs 22

(A) @ (B) @

© D (D) D

Quw R FAE ) X o A afkw @
the sister of Atul. Ravi is the son of MA@ F T B A e @ @ /o
Rekha. Then how is Deepak related to |ayg 27 .
Rekha?
(A) Son (A) 97
(B) Brother (B) =rd
(C) Nephew (C) wedrom
(D) None of these (D) T ¥ 1€ 78
[EETYTEC-20)[Series-B] Page 8 of 32

45.

In a certain code language,

(i) ‘pit na som' means ‘bring me
water”,
(n) ‘na jo tod" means ‘water 1s life’

(iii)  ‘tub od pit' means ‘give me toy'
(iv)  ‘jolin kat' means 'life and death”

Which of the following represents ‘is* in
that language?

45.

v faftaa o s F

(i)  ‘pit na som' H1 ¥ & ‘bring me
water’

(i) ‘na jo tod’ &1 f & ‘water is life'

(i) ‘tubod pit' FT 3 & ‘give me 1oy’
(iv)  ‘jolin kat' @1 31 2 ‘life and death’

Sodra ATl 7 is' fraa gfa wwan 87

(A) Jo (B) na @A) jo ®) ma
) e RN (©) tod D) lin
46. Simple interest on 23,600 at 7.5% per 46. 3600 T W 75 wferea arffs @9 R | 2
annum for 2 years 4 months is - a4 4 HTE T FERY ATA B —
(A) 605 (A) 605%
(B) 610 (B) 6102
(C) T620 (C) 6202
(D) None of these (D) ™A Eacdery
47. A goods train runs at a speed of 47. TH TramE 72 fh Wiy ue @ IR |
72km/hr and crosses a 250m long platform aq & & IR q® 250 M FE (& WCHH
in 26 seconds. What is the length of the F 26 VST F TR IR = 2, a1 =TT
goods train? F1 g e grf? .
(A) 240m (B) 250m (A) 240 (B) 250 ¥
(€) 2w ®) 300m (© 20 # (D) 300 A
48. Nitin ranks 18" in a class of 49 students. 48. 49 T @ Ten ¥ R 18 I W W 21
What is his rank from the last? TP OO A A |/ A S
(A) 31 B) 18 A 31 (B) 18
) 32 D) 19 (€ 32 D) 19
49. Find the n.xa one out - 49. IETA & T AT —
(A) Crusade (B) Campaign (A) o9gE (B) fyam=
(C) Expedition (D) Cruise ©) [/IA a0 (D) W% e
50. Which of the following is the smallest $0. T4 ¥ FAH BT J® I A &
number?
(A) 15/16 (®) 16/6 (A) 15116 (B) 16/6
(C) 718 (D) 11712 ©) 718 o) 1112
[EETYTEC-20][Series-B] Page 9 of 32
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51.

52

53.

55.

- Part-B / {r1—-3
NERAL AWARENESS OF RAJASTHAN / Xroreir @) € s

The rulers of which dynasty ruled over 1. e wareE T TEEd | 1dl 1@

arustic  splendour city ‘Chandrawati’

during 11" and 12% centuries?
(A) Gurjara - Pratihara
(B) Parmars of Abu
(C) Chauhans of Sambhar
(D) Guhil - Sisodia

Kshetrapal, an important aspect of culture
of Rajasthan, is worshiped as -

(A) A village deity

(B) A village officer

(C) An ancestor

(D) A saimt
Which of the following musical

instument, is not a chordophone
instrument?

(A) Alghoza
(C) Jantar

(B) Kamayacha
(D) Ravanahatha
Which is the smallest district of Rajasthan
as per area?

(A) Dholpur

(B) Bharatpur

(C) Karauli

(D) Sawai Madhopur

The apex academic organization for
educational planning, implementation and
evaluation for school and teacher
education in Rajasthan is -

(A) RSCERT, Udaipur

(B) IASE, Bikaner

(C) DIET, Jaipur

(D) RIE, Ajmer

1281 wafed A fFw 79 @ WHS! BT AR
YEr?
(A) TR - afErR
(B) Mg @ TR
(C) wWnR 3 der
(D) TR - R
5N dmurd, Yo A W B @ Fewyel

UEF, YT e & —
(A) um g B &9 H

(B) I I B w9
(C) & gdo & w9 &
. (D) TF ¥ @ w9 A
mu./\mﬂw_ﬁdaaﬂnﬁaﬂnﬂ.gﬂdua
&

(A) e (B) wTaTgEn

(C) Wi (D) @V &
wv/\dﬂﬁ]mg%m?&iﬂﬁ

forar @ &2

(A) dap

(B) WRER
(©) A

,\.9 waré AR
55. Y Iram A fRerew vd amgs frr g
fFrefor, fraraa v g @ fe watem
o wres @ -
(A). 3. Ta W £ o A, TR
(B) g v wh §, R
©) & € § A (=), W
(D) 3R g ¥, amR

[EETYTEC-20][Series-B]
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§6. The period of which ruler of Kota, is
supposed to be the excellent period for the
Kota School of Painting?

(A) Maharao Shatru Sal Singh |
(B) Maharao Kishor Singh

(C) Maharao Shatru Sal Singh [1
(D) Maharao Ummed Singh 1

§7. Maharaja Sawai Jai Singh of Jaipur built

the observatorics at which places?
(Select the right group)
(A) Jaipur, Varanasi, Ujjain,
Allahabad, Patna
(B) Jaipur, Varanasi, Ujjain,
Mathura, Delhi
(C) Amber, Bundi, Delhi,
Allahabad, Ahmedabad
(D) Jaipur, Ujjain, Mathura, Jhansi,
Patna

58, How many members are elected in the 58

Indian Parliament from Rajasthan?
(A) 20 (B) 25

(C) 40 o 35

s6\/ e @ Rra TE @ TTa W, el WA
# Rrerfdl &1 Sope | A S ASdr
&
(A) wewra wEwrE R 1
(B) wewm AR faw
(C) werma 34 R 1
(D) wewa IEE fiE 1
;&gﬁiﬂ?ﬂ.»ﬂﬂﬁ%
R Aeerensi &1 Fmfor FRmar er?
(@ o T 9w W)
(A) VYR, AR, IS, FETEEE,

\rdra s 4 qoReE @ e | 3l
&7
(A) 20 (B) 25

(C) 40 (D) 35

§9. Where was the center of Revolt of 1857 in uoiaﬁﬂ_ﬂ # 1857 9 A & = DA AqI?

Rajasthan?
(A) Jaipur
(B) Jaisalmer
(C) Sri Ganganagar
(D) Nasirabad

(A) WAR
(B) WHENR

(C) AR
(D) THR@ER

60. Which of the following is the corect pair  60)/ ¥ # & A fed IEA o A

of rivers of Rajasthan falling in the Bay of

Bengal?
(A) Kalisindh and Jawai

(B) Mahi and Parvati

(C) Luniand Chambal

() Kalisindh and Gambhiri
61. Falku Bai is associated with -

nﬂ&ﬁﬂ%ﬁﬂﬂn@%ﬁ%
(A) FTART 7d Targ

(B) =& Td g
(©) TN @ =
(D) wTenfag R A

61. Tog, 41$ wafda & -

(A) Bhavai Dance (A) ward T aq

(B) Chari Dance B) WA

(C) Kalbelia Dance (C) Treafear J@ |

(D) Terah Taali Dance D) ¥Ea T G
~mm._.<.—.mn.~o=mn1nu.w_ Page 11 of 32
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62. Where are “Kini Stambh™ and “Vijay
Stambh™ situated?

(A) Chittorgarh
(C) Jodhpur

(B) Rajgarh

(D) Barmer

To which place, martyr Bhil girl Kali Bai
was associated?
(A) Rastapal
(C) Bichhiwara

(B) Sagwara -
(D) Gorakheda
What is the sex ratio of women, as
compared to 1000 men in Rajasthan,
according to the Census of 2011?

(A) 921 (B) 928
(C) 955 m 917

65. The Plateau of Bhorat is spread in which
districts of Rajasthan?

(A) Udaipur, Rajsamand
(B) Banswara, Dungarpur
(C) Dungarpur, Pratapgarh
(D) Chinorgarh, Udaipur

Which of the following pairs of districts

has lowest literacy rate as per 2011
Census in Rajasthan?

(A) Sirohi and Pratapgarh
(B) Jalore and Banswara
(C) Jalore and Sirohi

(D) Jalore and Pratapgarh

67. Which city is situated at the bank of river

S./\A»_aﬁa.ﬁ..g ey et e &
A) Rrtsme  (B) TS
/\AQ TR (D) TR
63V wérz Na wfe s, Pra d @ R
WE | wag oA
(B) <rmarst

(A) ITITAT
/\ (C) fadiarst (D) WRTEST

64. N xorur § af 2011 A FATOET B TR,
1000 gout @ yEa #, el A W@ ;|
e fvaem 87 ,

(A) 921 (B) 928
C) 955 () 917

65/ AR1e T YBR Wy @ 5 et d den
W

(A) VAR, TR
(B) aars], FRR

(C) IRR, waTe
(D) fiefteTe, TR

66. ST 2011 @ JER  IORUE B
Frafafaa % @ 5 Rl @ R A W
FH AR T 7
(A) RR& R wamrme
(B) iR 3R dtwarer
(C) ek iR R

(D) TR 3R wamTe
1

TR 99 & fFR a9 TR I wr 22
Ghaggar?
(A) Hanumangarh (B) Ramgarh A &7 ®) v
(C) Ajmer (D) Jaipur C) IR D) AR
68. Which district of Rajasthan has highest 68./2011 & T/ o & AR VoA B fra
literacy rate according to Census 20117 R A walfts wmrer == 22
(C) Sikar (D) Alwar (©) M ®) e
(EETYTEC-20)[Series-B] Page 12 of 32

69. Who is credited 1o popularise the
Manganiyar and Langa folk artists?
(A) Komal Kothari

(B) Devi Lal Samar
(C) Col. James Tod
(D) Kripal Singh Shekhawat

70. Which folk deity's wife became Sati after

the death of her husband?
(A) Mallinath (B) Harbuji
(C) Tejaji (D) Devji

71.  Which of the following crop of Rajasthan
does not benefit from ‘Mavath™?
(A) Wheat (B) Gram
(C) Mustard (D) Cotton

72. When is the song ‘Jala’ sung by women?
(A) At the time of well worship

(B) On the occasion of Jal Jhulani
Ekadashi

(C) On visiting the bridegroom’s
wedding place

(D) On the occasion of Teej worship

73. One of the famous attractions for tourists
in Rajasthan is Mandawa town, which is
famous for -

(A) Military Museum

(B) A group of temples

(C) Royal Palaces

Qu.v Painted Havelis and Munrals

74. The famous painter Baldeo, who painted
the manuscript of ‘Sheikh Saadi ki

!\ Frrforae @ s i w0 go
A @1 A fa R o 27
(A) WA BREH

(B) &S AR

(C) &Aa o <fe

() Fua fe da@mEa
70. fra @® W@ A TN A T F ID

wd B TE?

(A) weA B) TS

(C) T (D) TR
:./\&_ﬂja,w.ﬂ,,_a%sﬂmdﬂ

[ arnfaa =@ e 87

(A) T ®) =T

(C) «wH! (D) ®UTH
qm/\iﬂaﬂgﬂdqﬂaﬂﬂwo

. (A) T A B T
(B) o THE F FTEWR W
(C) W& TR & I @A AH T
(D) & @ P IJAR W

73, AoRam @ e we wdent B f
s & B &, 9 wihE @ -

(A) 3= Fmeres @ g
(B) #ix ¥ & fau
(C) owrER & fag
(D) ffya wafd v R 3 o
N Araerd @ g ® agi @ fitx
A T Terza, v A Rw R

Gulistan', belonged to which style of XA wafra ar?

painting of Rajputana? A) 4@ (B) IER

(A) Bundi (B) >_,;.E, o i AU.

(C) Deogarh (D) Kishangarh e fprTe
_mm._,ﬁmn.no:mm_..a.m_ Page 13 of 32
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75,
Lipimala?

(A) Gaurishankar Hirachand Ojha
(B) Bishweshwar Nath Reu
(C) Ramkaran Asopa
(D) Muni Jinvijay

76.  “Jhamarkotra Mines' is famous for -
(A) Lead-Zinc

(B) Rock Phosphate
(C) Calcite
(D) Uranium

77. The author of Rankhar is —
(A) Nand Bhardwaj
(B) Malchand Tiwari
(C) Jitendra Kumar Soni
(D) Madhu Acharya *Ashawadi'

78. Which was the last Princely State of

Rajputana, accepting subjugation of East

India Company?
(A) Kota (B) Udaipur
(C) Sirohi (D) Jodhpur

79. Out of the following which one is not the
example of folk - painting?
(A) Phad
(B) Bani~- Thani
(C) Pathwan
(D) Sanjhi
80. Who was the first excavator of
Kalibangan?
(A) SR Rao
(B) A.Ghosh
(C) B.K Thapar
(D) R.C. Agarwal
81. Where is Darrah Wildlife Sanctuary

Who is the author of ‘Bhantiya Prachin’

q#\ﬁ?s&u%%g%ﬁ
(A) TR R S
(B) AR TS
(C) <wavt e
(D) Hf Rl
76, / “wrR@Sr @A wiig @ -
(A) dra—srwm @ fog
(B) Ir-wipe @ fag
(C) Pewge @ fag
D) ¥ 3 R
77V AR @ da@s § —
(A) =T ¥rg™
(B) wreag frard
(C) fwiz R |
/\AE ] S "

78\) WEqaTT @ Afem Rama a3 /@ o, R
fiftnr &= Pew s BN i

Wor faar?
(A) @
(©) fimé

B) IAR
D) SR

79. . = 3 QA B o A e =1 ggEm

a8 2
(A) ws
(B) @t — aoft
(C) wemErd
(D) wrEh
80. | T F W IJe@AEA F or?
(A) TH3IM. 7
(B) v €M
(©) @3

(D) IR, 3wraTe
81. e AT IARvE et Rem £?

situated?

(A) Ajmer (B) Kota (A) 3R (B) @®rer

(C) Dholpur (D) Jodhpur (C) oAy (D) SR
[EETYTEC-20][Series-B) Page 14 of 32

82. With which of the following dances, mn./@w&ﬂ@d LIRS O L L L

musical instrument Jhanjh is used? o ara a3 @ s R o 82
(A) Kachchhi Ghodi dance

(A) wah O T
(B) Bomb dance ®B) T I
(C) Terah Taali dance (C) aEare 4
(D) Gavari dance (D) T T

oA &
83. In which district of Rajasthan, the famous  83. wRrg IR AR A AR,

Amar Sagar Jain Temple is situated? frar ¥ srafea &7

(A) Barmer (B) Jaisalmer (A) A=W (B) R

(C) Jodhpur (D) Pali (C) WuR (D) ure
84. The Secretary of Gram Panchayat is - 84. U gETEA & A e & -

(A) Pawarn (A) na.ﬂ&

(B) Sarpanch (B) ¥4 )

(C) Up - Sarpanch (C) Sy-—=d

(D) Gram Sewak (D) ™ ¥EAF

5. Who is the Chairman of West Zone 85. W@ i wgRE =, ISR B FE
Cultural Center, Udaipur? o= &
(A) Govemor of Rajasthan
(B) Chief Minister of Rajasthan
(C) Tourism Minister of Rajasthan
(D) Divisional ~Commissioner of
Udaipur . .
86. The g::a“ of Rajasthan touches how  86. IToTedr 2 G ey wea @ Al |
many state boundaries? fyerch 27
(A) 5 B) 6 (A) 5 (B) 6
) 4 (D) 3 € 4 (D) u .
87. Which two districts of Rajasthan have 87. TR D I QA ol § Feen g e

population density more than 500 persons s00 @f¥a WA ot A | s &

per square kilometre? - \
(As per census 2011) (S=rToTT FTER

(A) Jaipur, Dausa (A) O, A
(B) Jaipur, Bharatpur (B) OQR. WA
Anv uﬂm—ﬁ:. Alwar AQ ﬂ.ﬂw‘ﬁ AR

(D) Jaipur, Banswara (D) U, drEarst

re ruling in Delhi 88. wEREn I B A I A R e
¥ f5= ToET & wEA o

A) =T - faasl an

(B) TIEH — ATS W

(C) ¥aT — QA I

(D) & — e U

88. Which dynasties we
during the reign of Maharana Kumbha?
(A) Slave - Khilji Dynasties
(B) Tughlag - Sayyid Dynasties
(C) Sayyid- Lodi Dynasties
(D) Lodi- Mughal Dynasties

ﬁmm_i.ﬁmn.uc:ma:ﬁ.m_ Page 15 0f 32
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91.

92.

93.

Fa i b i
mous tounst place ‘Samode Palace’ is

89,
situated in which district of Rajasthan?
(A) Jaipur (B) Alwar
(C) Bharatpur (D) Tonk
What is  approximate percentage  of 90,

Rajasthan’s surface area to the

surface
area of India?

Which of the following districts of 9],

Rajasthan  has  shortest international
boundary? y
(A) Jaisalmer (B) Bikaner
(C) Barmer

(D) Ganganagar

«55:. was “Rajasthan Housing Board” 92.
established to cater the housing needs in
the State?
(A) 08 March, 2008
(B) 24 February, 1970
(C) 31 July, 1997
(D) 02 October, 1986
Match the List — I to List — Il and choose 93,
the correct answer from the codes given
below the lists —
List - I (Author) List - II (Book)
I.  Kamidaan a. Ajitodaya
II.  Daulat b. Kanhadade
Vijay Prabandh
IlI. Padmanabh c¢. Khuman Raso
IV. Jagjivan d. Suraj Prakash +
Bhart
Code -
I o0 uar v
(A) d ¢ b a
B) b a d c
(© ab c d
) d a b ¢

vfg wied wr@ GMIE qed e @
fu R & Rua &7

(A) SR (B) 3T
(€) WAR (D) AT

ISRYT W AFEA WA B ATHA

it @ @ @2
A) %

’

@ fraa

(B) 8%

(C) 15% (D) 5%

Prafafes 4 9 o @ faa R @

SRS Hrar waw o) 22

(A) TR (B) IR

(C) areR (D) TR

9 A AT wadt smavmmaet A g 2g

Mﬂﬁﬂ%%zﬂﬂ:%%ﬁ%
? /

(A) o8 #rd, 2008

(B) 24 %I, 1970

(©) 31 qaré, 1997

(D) 02 TR, 1986

T~ 13 I - 1A g AR ik

T @ A Ry g/ aet ¥ W@ o w

947 $Hiferg — i 4
-1 @ws) - 1 ()

I Fvfres a. Jfvrarga

I. Z=a s b, sree? way
QAT RN
NSEREat

L 93rEm
IV. Srofas %z d.

fa

T —

I Immiw
(A) d ¢ b
(B) b
(C) a

D) d

L -
o o o
o a0

[EETYTEC-20][Series-B]
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-

feré) oy VoI TSd @1 IRNE ol —
(A) wearare fed

94. The founder of the Sirohi  Rajya 94,

Prajamandal was -

(A) Kanhaiya Lal Mittal B oﬂ_...ﬂ et faad
(B)  Bhupendranath Trivedi () .._.._.wﬂ aé Wz
(C) Gokul Bhai Bhau (D) e am
(D) Mitha Lal Vyas ’ .
95, The maximum number of members in the 95, ISRAT i wfaufue & wew @ sferaad
Council of Ministers in Rajasthan can be - w2 e -
5. 25 (B) 30 (A) 25 (B) 30
(€) 35 D)} 40 (€) 35 (D) 40
96. Which part of the State is chiefly 96. e Saanfa W @ few W # g
inhabited by Bhil Tribe? frara &t 87
(A) Northem pan (A) TS99 9T H
(B) Eastern part (B) gdi W A
(C) Southern pan (C) =frf wm 3§
(D) Western part (D) ufEEd W 5
97. Among the cash crops in Rajasthan, the 97. TvTd § aiites wual 5 AT e
‘Nerma' type is related to - A wed @ - .
(A) 7= A (B) &UE ¥
(A) Sugarcane (B) Cotton
; A (D) a4
(C) Tobacco (D) Jojoba (C) Tars,
57
98. Rajputana Madhya Bharat Sabha was 98. STWTqEr 7 WA Rinical ,,ﬂ“nu: T
founded in which year? (A) _c_aw (B) _cw... o
(A) 1919 (B) 1924 (C) 1905 D) 359 A FE A
(C) 1905 (D) None of these o
99.  Who among the following was not a ruler 99. frafafaa 8 9 I GuR 99 T TES
of the Jodhpur State? 1 u1?
(A) Jaswant Singh (A) wwaa f¥e
(B) Ajit Singh (B) fom fe
(C) Anoop Singh (C) = R
(D) Mota Raja Udai Singh (D) wTel I ST e

fra furmen ga@ § TeeE R

100. In which Assembly Election, the strength 100
& WO WET 184§ TR 200 F TE?

of Rajasthan Legislative Assembly inu\

raised from 184 10 200? (A) s (B)
(A) Fourth (B) Fifth W .
(C) Sixth (D) Seventh SRS

[EETYTEC-20](Series-B] Page 17 of 32
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Part-C / sr7—g
- TEACHING APTITUDE / fgor aifyesen 107. MS_..: is the main characteristics of 107. ¥aw [ &WNE T I A fadraen wm
. The reason for under devel P ontinuous and Comprehensiv 2?
d s afyafrd F PRYT | . p sive
and language is - veloped speech 101, qrofy g wiar &1 Ll evaluation? (A) 7@ R ) SR 3@ dl e
(A) Deafvess after the knowledge (A) w1 o B 98 TE9T (A) It “_sn_.ouwom the work load on B) we P @ vEE wE T T
of language students,
(B) Lackof : (B) sfia ufiwmer B A (B) It evaluates every aspect of the &
v?.ﬁn.. raining student, P (€) TE wde wa F FH FA A Hera
(C) Deafness since birth (C) W= | TEXTA (C) It helps in reducing examination 21
(D) Deafness after sometim hobi
. . phobia. F®! B T F T7A T 2|
. ~.=_.:._ (D) W= & {Y GHG TEN TR _,_ _ (D) Itreplaces marks with grades. - 2
102. According to you. “In-Service Teacher 102 s WA BT 108. Students follow that teacher of the 108. U RUm@ & W FATE F1 FFATT FA
.:...::_:n Programme is a good way of 2. . £ .
orientation’. This statement is - SRfYaRer F1 Ao Sug &) TE T 2 - school - . . )
] : S9& =Tl & qEEA &
.M' %ann:u:. (B) False (A) = (B) 3wd (A) Who is according to their ideals A
(©) True (D) Partially ; . . (B) it weraTd A€ I
True (C) w1 (D) s TF (B) Who is not partial . .
faa fea=n aresT &1
103. In the development of a student, which 103. Trei@ @ frora ¥ Prefafag 3 ¥ feaar (C) Whom they liked to meet © . )
one of the following contributes . (D) Who is attractive Lookingwise ®) < 1 *
maximum? yfywTs Arrer drr 87 . .
(A) A good / 109. The teacher should have command on 109. i@ &I T+ Fd # fgor @ =ne
good school (A) S W T | his work so that - T -
(B) Textbooks B) rETgE BT (A) Students will obtain knowledge (A) ©1F fiws § 4 o< % el
. 4 from the teacher.
(C) Rich . N
Ag. m_n parents (C) & ﬂﬂTEﬂv i~ (B) Students will be under control. (B) ©m= g d )
igible and dedi (C) Students will for tuition t .
100, £ tcter NP @) 7 7 T e teackery v+ L (©) o fmw & W T T A |
. eac n_. Lx.vc_a have which kind of 104. & flers Qﬂﬁﬂdﬁ& @ 9 f&a (D) Students will get proper (D) ©E @7 ofaa g e
attitude with his colleagues? o / gu idance. X
A5 Neamiv PR # Afghy @ afke? 110. The child leams the primary lesson of 110. TTREMVR F W& & FR=S TS Toe
egative (B) Critical . 4 sponsibili & AT & —
(A) TORIHD | B) e responsibility from TET
(C) Cooperative (D) Creative © ; - (A) Home (B) School (A) ¥ (B) A 9
N eSS (D) IEATHE g 5
105. Main function of a teacher is - 105. T W 1 & (C) ,Soceyy 000 5 Sk © W ¥ RS
(A) Complete the syllabus on time 111. For progress of the teaching profession, 111. 39 FAA HIAH A vy & fay Far=m
(B) Giving effective teachi & (A) uregEd W R gt Famr you will give maximum importance to - Hewq WaTH BT —
ve teaching to the B) BE B T R wu: (A) Quality classroom teaching (A) ._Hd_dﬂ.ﬂi =T I
mEm_n.:.« i (B) Doing research work B) IFEIH F1d FET
(C) Guiding the students (€)o7 T Anfeeta e (C) Writing good books IR GRS BT FE
(D) Partial behaviour with the (D) vE @ Ay U @raeR Feer (D) To quit teaching work o e o ﬂqmﬂda
students D) . |
106. According 10 you, how should be the 100 mnm 3 _— P 112. Teachers and Head of institution are - 112. s U9 ST TUH US GER @ —
class communication? feg? (A) Compelitors (A) wirwe! & 81
(A) Difficult (B) Moderate ) TR - (B) Friends B) &3 2|
(C) Inmteresting (D) Effective (C) Co - workers (C) wearft el &)
©) ¥ ®) ,
(D) Opponents (D) fXReR 2/ &)
[EETYTEC-20][Series-B] Page 18 0f 3
2
¥ [EETYTEC-20][Series-B] Page 19 of 32

SEEER TR L R i — | e

e Y

Sy~ |



113, While teaching in the class, if a student 113,

....fr..a you a question and the answer 1o
which you do not know, then what
would you do?

(A) Make him sit afier scolding.

(B) Say the question is wrong.

(C) Try 10 answer his question as far
as possible.

(D) Promise to answer the next day.

114. ‘For comect communication in the 114,

classroom, it is essential that your
behaviour should be dramatic’. This
statement is -

(A) Right (B) Wrong
(C) Probably (D) Cannot say
Wrong

115.  According to you, the teachers should be 115,
punctual in school, because -
(A) This is their duty.
(B) If they come on time, the
students will also.
(C) They are role model of
students.
(D) Tt is not necessary to come on
time.
116.  As a subject teacher, what the purpose of 116,
asking questions in the class?
(A) Discussion about teaching
among students.
(B) To keep students active and
attentive in the class.
(C) Fordiscipline in the class.
(D) To improve teaching.
117. The aim of teacher should be - 117.
(A) To help the students clear their
examination.
(B) Overall development of the
students.
(C) To develop Skilfull behaviour
in students,
(D) To teach discrimination to
students.
118. Which teaching method would you 118,
adopt to develop creativity?
(A) Problem-solving method
(B) Story method
(C) Lecture method
(D) Case history method

ﬂ:aqﬁmdﬁaﬂﬂﬂ»%&ﬂﬂﬂ

@.gaﬂanﬂxﬂ&w.

TIm W 3y Fyr w7

(A) T =reax fAar 3|

(B) Wy 7 e FEAR g9 IR 4|

(C) Sud Wed @1 TR 9T N
yar &41 |

(D) ﬁw?ﬂdﬁﬂlﬂﬂqﬁ%_.

T 4 ofm wewr ¥ smww &

AUF WIER ﬂ&.md J s Bl TE

T B

(A) w&
(C) wyaa Tad

avF ¥, A ® w9 W Raay

e =fey, aifes —

(A) TE 999 Tda B

(B) ¥W0 W 3 W oA M WY W
I |

(C) A o= & IRy @A B B

(D) UG W AT ST T8 &)

@ g semus @ w9 F, w4 g qu

1 @1 Shey B €2

(A) orEl # Ao wad Rar et i)

(B) T2 F ol & 6y 7 e @
55

(C) T A o g

(D) fRemr ¥ Jur &g

s @1 Stvg @ oty —

(A) ol B qfen o TR N wergar
T |

(B) BT F1 walfor R &)

(C) wrEl @ ZTER ¥ FHIE w@

(D) o 1 Y R

M TR @ REwa 3 @R R

Rfer s

(A) T ARy

(B) werh fafy

(C) arem fafy

(D) aifd sfera fafy

(B) e
(D) FE TE FHA
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119. For gaining knowledge, a teacher should 119, wrarsta @ foQ, smnaa @1 w1l wf

v (A) waEria

(A) Making Efforts/Zealous %

(B) Aware [T

(C) Book collector (C) g aegal

(D) Inactive A b | v WU
120. “School is a miniature form of the 120. “fTTeTm TS F1 TF Ui FW B

society". This statement is - 2 -

(A) Mostly True (A) e a3
(B) Partially True (B) anfI® wa
(C) True (C) W™

(D) False (D) A

#Hfeas .ﬂ -
121. According 10 you, the fundamental 121. 3M9% WaTgAR. TH e & -
quality of a teacher is -

(A) Cheerful nature (A) ETqa T
(B) Attractive dressing (B) 34T TInm
(C) Good personality (C) 3o afa

(D) Knowledge of teaching D) o R @ 3=
methods

122. How can the Comective Method be 122. ¥& §uR Ufa @1 fFd war o far o
wem 27
(A) To-RRJ
(B) a3 ¥9 | 494 g1
(C) By audio - visual aids (C) == | BT
(D) By dramatic way (D) e 6 |
123. If all the students are not giving correct 123, 3N9# &1 & af2 0 813 ¥ @@ & 2

@ &, 91 39 T FE7

(A) e FE|
(B) U= I T |
(C) w=® wa-fYar | frema 3
(D) T R 9IS FN ITEA |
124. ¥fas qUE0 & R I D fog 39 -
(A) a1 I IATES BT |
(B) dFA |
(C) T© & T
(D) YReY R Sl aner

encouraged?
(A) By Play-Way method
(B) By Independent study

answers in your class, then what will
you do?
(A) Explain them.
(B) Give them rani.o_.r.
(C) Complain to their parents.
(D) Repeat the lesson in the class.
124. To eradicate social evils you would -
(A) To aware people.
(B) Take resolution.
(C) Do nothing.
(D) Bring awareness through
s ¥ gor &
125. Your friend's son studies in your class, 125. U T T GI JOH T 4 4
your behaviour towards him will be - IED By JYFH JIER B —

(A) Disciplined (A) g

(B) Partial (B) w9 QUi

(C) Just like an ordinary student (C) w1 BT A Wi

(D) Likeason @ 3 A ifa
[EETYTEC-20][Series-B] Page 21 of 32
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126. ”n:_m a teacher, you will encourage the 126, amq v A B w9 A oAl B TR
student in order 10 - Erol
(A) Develop the Intelligence y Easl
Quotient (IQ) U s e B %
(B) Make them self-dependent ®) wWEeh T &g
(C) Obtain higher education (€) v et wra A wd
(D) Remain a Bachelor D) e @ w ¥
127. Why did you decide to become a 127. 3 UF e o @t aa fear?
teacher? we
(A) Tcan eam alot through tuitions. (A) A TguE TP TEA 0T FA &
(B) Tcan teach my own children. B) # 3 @d B q=l B g1 FHA |
(C) Tlike teaching very much. (©) fwer o 79 safes i
(D) I cannot get any other job. (D) # #2 arg e 7€ a1 wFanl
128.  According 10 you, effective t hing i -
Accondting ©teachingisa 128. 19ad wergwR, it Ror oo @
(A) Friendly behaviour with ) T A h
students

129,

130.

131.

(B) Command over content and
communication

(C) Experience

(D) Training @)

(B) uragawg W JRSER 7 WRET B

(€) arp @
wfeor w1

Individual or Group appreciation in 129. @frTa T WHRT WY W FIA P aADAD
technical language is called - ATAT ¥ BET e & —
(A) Discipline
A) I
(C) Difference of opinion among | ¥ Ferrear
the students © ﬁﬂm_ﬂ &nuﬂ N wErE
(D) Helpful in skill management “ 3 )R
If a child is not socialized, how he 130. A} IaF T wEABr A @, @ a® fra
would be? THR & qm?
(A) Like a beast (A) OYEq
(B) Unsocial B) Fumfre
(C) Antisocial (C) st
(D) Fully social (D) yorEmIfTe

Homework makes the student love self- 131.
learning, but along with it, it -
(A) Develops logic and thinking

ﬁﬂaiﬂggagw.ﬂd
THS WU-WY OTEY § —

power among the students. (A) 7 @ ReR v s XA R
(B) Reduces the tendency 1o roam
around. (B) ﬂn&%nﬂﬂﬂmﬂﬂ&ﬁ%.

(C) Makes him/her practice the (C
content knowledge ) R s @1 snar v 2|

(D) Causes tiredness. (D) U I~ Fwar 2

[EETYTEC-20](Series-B)
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132. Leadership is a special process, for 132.
which two best words are -
(A) Dominating - Subordination
(B) Dominating - Administration
(C) Dominating - Slavery
(D) Dominating - Follow

133. -Evaluation of students becomes essential 133.

for a teacher, because -

(A) The school pays the teacher for
this

(B) This is mentioned in rules and
regulations of the government

(C) Learning abilities of students
can be known

(D) This maintains Coordination
between leaming abilities and
remedial situations

134. Before entering the class to teach, 1 134,

will -
(A) Make my mood cheerful.
(B) Gaze at my face in the mirror.
(C) Carry the teaching aids for
today's lesson.
(D) Organize my lesson plan.

135. It is very important for teaching 135.

profession -
(A) Constant learning
(B) Higher recommendations
(C) Teaching aptitude
(D) Higher percentage of marks

e vw fawm ufvn @ m R, Rrd fag
QY IFE TR T qEA & —

(A) WA —

(B) Wi — WA

(C) wq — T

(D) 9@ — 3T

R @ fay faandl & oo & a=en

avgmﬂﬁ%g.

e A R &g v o |l 7 -

(A) AT B wEHATEd S|

(B) T4 F gAr g e

(C) 3= @ ure @ o werwes wwdt
[T AG ATH |

(D) H91 UISF ATON @ad &6

e arqea & oY sregw Hewgl € —
(A) EggLTEal

B) S i

(C) fimmror siferan

(D) 3@ & I=a wiawd

136. Being a teacher, will you suggest your 136. & fiw® 8 @& -, 301 39 399 4F @

son to become a teacher ?
(A) No, because there is nothing in
this profession.
(B) Yes, if he willingly gives his
consent for it.
(C) Cannot say
D) Yes

e a1 & Fe?

(A) & w@WF T8 weEw 3 o 7@
@ g

(B) %1, aft a7 W1 J§ 3o fou ggsa
&rar g1

(C) & & ¥ |

M) €

137. According to you, priority of the need of 137. J9&! I ¥, T I awawn § gur &

improvement in the present education

system is -

(A) Commercialization of
education

(B) Change in evaluation system

(C) More use of computers in
education

(D) Change in the curriculum

. (B)

HATESHAT B WTATHSAT & —

(A) e & aadee
HATH IR H 954

(©) fmen & TR &1 sReRs wam
(D) YSEHH H aSA
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138,

139.

140.

141

The foundation of leadership is -
(A) Appreciation
(B) Desire 10 serve
(C) Welfare of the group
(D) Nothing can be said
Social maturity means -
(A) Ripening of the child like a

138

fruit.

(B) Development of wisdom in the
child.

(C) Development of social

efficiencies in the child.
Presentaion of a balanced
social behaviour by the child,
like amongst adults.

(D)

Base
among boys and girls is -
(A) School
(B) Parents and family
(C) Community
(D)

Means of communication

If a student tells you about any family 141.

problems. what will you do?
(A) Listen to hissher problem and
suggest possible solutions.

Listen to his/her problem and

give moral support.

(B)

(C) Ask him to discuss only study
related problems.

(D) Ask him not 1o discuss family
problems.

According 10 you, it is required in order 142,
1o learn -

(A) Motivation by the teacher

(B) Common Sense

139.

agency of social development 140.

e @) o v T &
(A) Wl
B) @ P FO

(A) TEE T B B A G|

®) s A s 51 Qe ol

(€ @ A wmiie gueEast  #
fam 8|

D) e @ e B W wgferd
[T WAER BT W& FIAT |

Ter-afaERt @ wmfee  fRem @
ST ANHIOT FET A & -

(A) feraa

(B) wra-far ta aRar

(C) wRM™

(D) TR & HeAH

oy o faardt ame swh mRaRe e
@ ar ¥ qar @, A I @ FA?

(A) Su# W gt AR SN Wi
S G |

S W gE iR I Afaw
wad 2|

IN dad UeTE A Gaa wEr @
ol wA @ fag wEY)

=y uRafRe awenm @ =i =8
T 3 fag w5 .
YD AATAR, WG ¥ HTES & —

(A) IAYS ERT WTET

(B) WM A9HH

(B)

©

(D)

(C) Curiosity (C) forsmm
(D) Reading Habit (D) 9gH & Ired
143. According to you, education develops - 143. 3M9&t g ®, f¥rn | fRsfya 2 & —
(A) Intellectualism (A) dfgwar
(B) Abilities ®) el
(C) Maturity (C) uRgaam
(D) None of these D) T Y ¢ 8
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144. To develop the qualities of a good 144,

leader,
(A)
(B)
(C)
(D)

145. Teaching is an interacting process -

(A)
(B)
(©)
(D)

146. According to you,

the most important role is of -
Political platform

School
Family
Movie theatre

Between teacher and parents
Between student and teacher
Among students

Among teacher, students and
content

inter-personal relation is -

(A)
(B)
©)
(D)

147. The base of a child is formed by primary 147.

Equality of thoughts
Regionalism
Education

Money

level teacher. Thus his job is -

(A)
(B)
©)
(D)

148. In order to develop logical ability and

Crucial
Easy
Difficult
Important

creative thinking among students, the

teacher should do -
(A) Group discussion
(B) Seminar
(C) Debate
(D) Give lecture to the students
149. According to you, what is required fora 149.
good teacher?
(A) Popularity among the colleagues
(B) Commitment towards  the
teaching profession
(C) Tobeanefl fective explorer
(D) Faith towards one's own

150. Which of the following

(A)
(B)

institution

145.

B) v 7 fors & 7=
(C) BT TR & 7
(D) fawrs, BTE oIk RTgaR & 7

the base oa_saﬁ».zﬂﬁwﬂaﬁiﬁg

2 -

(A) et @ FE=ar
(B) &=d]

(C) e

D) g — F&

aaF & 9| uuiRe 'R T FANS I
AT B 21 I IES o1 8-

A) fFoias

(B) &<«

(C) e

(D) wEel

_Sﬂn@in%gﬁ%

frm @1 Rew xa &g Rl Eall- )
F AIfRg?

(A) T uiEEl

(B) AR

() a -

(D) ©TE & wI9T &

S T 3, s oS Bmw ® R @
FAES &7

(A) I wE-SHT § S

(B) e s @ ufd wiagg

(C) TS FHrdl J=ATSH T

(D) I wwen @ Wiy e

personal 150, fr 4 @ R @ o9 & B o R

qualities of a teacher. do affect teaching? F wifdd FXa &7
Sensitivity (A)  Hag=Edan
Social skills (B) wTIfA® FHIAT
Physical Strength () wfts ufda

©
(D)

Management abilities

(D) W& &
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Part-D / AF1-% )
LANGUAGE PROFICIENCY-ENGLISH /w7 @vaan : 3iieft .
Attempt all questions, choose the appropriate option from the ones given after each question -

151.  Fill in the blank using correct word —
5 ¢ JECRS RS swim when he was young.
(A) mght (B) would
(C) could (D) None of these
152, What she saidagrees ... what I have already heard. (Preposition)
(A) from (B) with (C) of D) at
153. Choose the correct synonym -
Abandon
(A) forsake (B) receive
(C) gf (D) grieve

154.  Choose one word for the following phrase —

“Someone appointed by two parties to settle a dispute’,

(A) Negotiator (B)
(C) Mediator
155.  Change the following into Indirect Speech —
She said, "My father will help me.”

(A) She said that my father will help (B)
me.

(C) She said that her father will help (D)
her.
156. Choose the correct article —
Edwardsaidhes ............. European.
(A) an (B)
(C) a (D)
157. Choose the correctly spelt word ~
(A) Perceive (B)
(C) Percieve (D)

158.  Which part of the sentence has error in it?

Arbiter

(D) Middleman

She said that her father would help her.

She said that my father would help her.

the
None of the above

Parceive

Perceave

The rise and fall/of the tide/are due/to lunar influence.

(A) The rise and fall (B)

of the tide

(C) are due (D) 1o lunar influence
159.  Choose the correct antonym for the word *Malice” -

(A) Honour (B) Ecstasy

(C) Goodwill (D) Happiness
160. An averagecow ............... one thousand four hundred ponds.

(A) weighs (B) weigh

(C) weighed (D) will weigh

[EETYTEC-20][Series-B] Page 26 of 32

161.

162.

163.

164.

165.

166.

167.

Identify the kind of sentence —
What a fool you are!

(A) Assertive Sentence

(C) Exclamatory Sentence
Change to direct speech —
He asked who lived next door.

(A) He asked, “Who lives next door?”
(C) He asks, “Who lives next door.”
Choose the word that is spelt correctly —
(A) comittee
(C) succesive

(B) Interrogative Sentence
(D) Imperative Sentence

(B) He said, “Who lived next door?”

(D) He said, “Who lived next door.™

(B) balloon
(D) fullfill

Directions: (Q.164 to Q.168): Read the passage and answer the questions that follow —

A little man beside me was tuming over the pages of a magazine quickly nua.vnac:»_w.
Opposite me there was a young mother who was trying to restrain ber son from making a noise.
The boy had obviously grown weary of waiting. He had placed an ash tray on the floor and was
making Acroplane noises as he waved a pencil in his hands. Near him. an old man was fast
asleep, snoring quickly to himself and the boy's mother was afrmd that sooner or later her son
would wake the gentleman up.

What was the old man doing?

(A) Sleeping (B) Looking at the child

(C) Eating (D) Reading magazine
What is meant by ‘restrain’ in the passage?

(A) control (B) encourage (©) 1re (D) rebuke
The person who was least disturbed was the ... .

(A) observer (B) son

(C) old man (D) ltle man
The noise wasmade by ... .

(A) the old man
(C) the little man

(B) the Acroplane
(D) the boy

168. The factor common to all the people was that they wereall ...

(A) watching a film (B) waiung for something

(C) looking at the lhtle boy's (D) reading magazine
playfulness
169. Menfear.........oooonon. death.
(A) a (B) an (C) the (D) noarticle
170.  1bought this watch ................ two thousand rupees.
(A) in (B) with (C) for D) a
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ll

-
W A R

@) af + R + anf = ofvanfX
(D) o&+d+a§+maue_wa___.

171. yama Ras @ -
A) W + B+ amw = afw
(© |+ ®+ 3= AWew

172, HRIT WRE A WA wer P @2

(A) A (B) ¥TH (C) WA (D) T
173, fa= A WA v Prewe & quigard T8 8

(A) ¥R ®) Pria (© PAfr ) F=m
174. ‘¥ MY WA aeUTE ¥, o A Yifha YR B gE w9 e -

(A) T (B) awOTAl (C) Tl (D) THOTA
175. wftrg Su=we MET @ /AT & -

(A) YRTUT (B) WwEg

(C) argan wrem m T | o T

176. af ¥ TR HTH BN, A AHN T T ||, AR B FHR TATT —
(A) WNRW AF (B) s A (©) gEw @) i @
177. Py=fafa & | aeqey WOM BT IAEV & —

(A) 3merda (B) TumfR (©) whfdm (D) TR
178. W9 @ fRdm s @ -

(A) A=A (B) frofa © friE m 3
179. =R A g gETR 1 9 wf & -

(A) FOaFI M (B) =X Im

(C) g=x awg A MR o1 e (D) gy [rr
180. "7 @ yaig A8 & -

(A) @ (B) UE® (C) == (D) T
181, FTH WEEINE HAAYEAI Agew B SAER A€ 87

(A) uaEn (B) 7Y (C) ™4 D) Yar=
182. 5 Raew A 0 wegg &1 wam T8 gan @7

(A) urferra (B) farvig (C) W (D) T

183. 'U% @dl, 3 TARE & 3 @ —

(A) & wgfa & 7E &) (B) o A wf & 2

(C) Fra1 €1 3R A g ) (D) W@ B GIed A FH G247 |

184. '€ €lUUR SN EIY A YA wATdl W ¥, I B Ay e § -

(A) & (B) = (€C) z@ D)
185, ‘AT weE & e ® -

A fmam @ (B) afdE-—fea (C) fam wir @ (D) frmr s
186. araare & foe @ wE @ "ol ¥ arima gfag —

(A) e wa v a8 = #a

(B) foraa &9 aga 91 wodl € = e

(C) ¥ax R 7R @l e o = R

(D) it FfAW a9 are R da 2 = oA

s s e e

187. R ¥ R s araw @ e A -

(A) fred oir arn A et A

(B) A1 S A HEEA TR ITEA R )

(C) &9 il wrrdra gdad &1

M) ¥ P w1d T @ anaa K
188. ‘arne’ @ WY Aedw ' -

(A) &+ WA (B) AH + A (©) 3 + e
189. ‘Remrr e A Frn w82

(A) TR ®B) TqET (C) srardnma @) =&
190. WR T T T R - '

(D) 3+ S

(A) wRr ®) TR (C) wafrd (D) A
191, A @ fae e e ® vt § wra @ gi-

(A) o d=m @ g ® — g

B) W U B TR g 8 — S

(€) Rwad A gt 3 Fren 8 - oo

(D) < o o A S g B — Fard
192. = @) A fad ol ge 27

(A) U (B) arqafe (C) ayfea D) IFTEa
193. fra A A 3R & waa A 98 e 71 T D -

(A) R+ PR = SR B) W+ WE = Wooad

(€) T + yrard = garard m A + =R =fFgw
194. fa Res A ‘Fo wwa & WA afga w9 A g 87 -

(A wifta tom fafEa - (C) =faa m) gfaa
195. arava @1 aef & — i

(A) IrFTEd (B) ¥& IR Hass

(C) 3@u &1 Y& arel (D) af AE qren
196. fPr=fafua § @ e By swwt § 58 T

A) B) frafe (© fra (D) fr=
197. Y& T& T 999 BT —

(A) @fza (B) wsHfa (C) arree (D) fA=rf

198. % WW B NI D wof A R qH -
(A) TM-TEA = TR &8+
(C) TFER = TR B8
199. ‘3 A TTE HETR T T I ® —
(A) ol =t o e 3wy sFmaTe wra g
(B) <l aragawen €
(C) TTHA WER
(D) W A B R IH IR B ISR T4
200. =1 A A B T R IuwEt [ T @2

(A) ufRfY (B) URTHTT (C) waidon (D) i

(B) T@MUA = Isfas g8
(D) TIE—T& = FHER &5
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171. g IETR BT [T -
(A) fRwm m T
(C) fm m <=

|7

AT AT WA

172. Eifaady & IaaERa —

(A) T3 W s
(C) g3 we e )

173. =9 v Fda fafa fauw 72

®) fwe i @l
) fi iz

@) g i e
() g we arma

A T@ ®) " © & @) =
174. Y Ieq TIHRG —

(A) TEQ B T @B) ™ g fafd

(C) ¥ wo wfemad (D) @@ BID B
175. T TR wgdl vEaed 6 ee - .

(A) T B) T (C) T (D) T
176. ‘ST vew v g weEhd —

(A) =Tl (B) mEmatamg (C) marat: (D) mardar
177. Suwwen Ruras EFaka?

A o (B) WIS

“n” % ) STamt:
178. % TN SHRUWFEARG —

A) T (B) G (C) wvaarg (D) =
179. TS € §I I T T wd: IRA?

(A) =& (B) TE © TA D IR
180. <3 gEw Tesfy afeE TR ww wR @ el afa?

(A) fadrr (B) T (C) A (D) T
181. <fF y=w fagdorts & afwr?

(A) & B) frm (€) & D) wEd
182. % 97AT I AR FANYOEGIUTHG —

(A) 3¥aq (B) 3 (C) 3IwEa (D) 3p7aq
183. 37 + U3 Orel FweadTd &4 Hafa —

(A) 39 (B) T (C) smogE: (D) 3.
184. safafaay Retadeesoma —

(A) TE@ETE (B) =maar A (C) a¥a (D) e
185. U=’ vaw & wfafawe afva?

(A) T9 + T (B) 99T + 3= (C) 39 + 7= M) I 4 ¥
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186. ‘aora’ vEw Wiy Rwe & aRa?

(A) ag+@@  (B) dee

+q (C) @ +

187. WrEUIEER) 9 & WY, dRkd?

(A) TR agow
(C) U=l g
188. fawiw vwmrorE wafa -
(A) g (B) T3
189. ImuifaRedy v aremRa —
(A) M. AT
(C) ¥: AT JEATH]

(B) Ogeft acqey
(D) w<H TGy

(C) i

(D) T+ &

(D) 3=t

(B) ¥ I@EATEIadd
(D) W (WA AT

190. W& =W (9 v IETIN FWH Wi —

(A) wdury (B) wafamr

191. @ + faafd serm o= afaeesRa -

A) weferafy (B) aferafa
192. 9 urar dAlg TR FEUAYHY TEIAT WU —
(©)

(A) aa (B) aq

(C) warg

(C) uferafa

(D) wdG

) afRkeafy '

(D) ¥Haaq

193. 1AV AW SR W Y Ay Y@y gew & fapstar

(A) gfeasH B) wfegm
194, &dfam — Afaan — yfdaam @y TRy & www?

(C) TquSIagd

(D) e

(A) daww. (B) darq wea (C) Tq wg (D) =@ Wy
195. WY’ g wwe fag smafa?
(A) gfest (B) -gua&fent (C) =T (D) Swafaa
196. WqE' W= yatgardt & fa?
(A) QU (B) T=@R (C) B (D) fRF=v
197. W + 9 + 95’ 3 & w9 safa?
(A) woT (B) woira: (C) worrs (D) WUy
198. OO TS WIS —
(A) ugdl ager (B) fEdw a=ppw (©) T aegeY (D) W TGES
199. anfe W= SeErvHiE —
(A) @ (B) weafR (©) D) 52w
200. AR’ 9 Ww@d: I —
(A) T (B) Fwag (C) g (D) Tg9
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